
���������������	�
���
������������������������������ �!"���#������$� %&&��

��

� �� ��

����

���!I)�:�����������������(��-����������	�
�)��c�5��Y��(�����I��,����J��$��:�M4A�0���"���:)����P

MK�����:��K�=��<6���

YB�������I ����i�!SF5� �(�'-�<E����12�� �

��F$/��	
0`
���	J����	37�	�#��=!�	�	�!�8
��2	���:	��#��=!�	k	$��/	���
���	�!�8/	(*#�	���:	���0A�	���.�� �

�
��-��\		

37	% b�?	�`<	��7���	�					�5A�	$58���	S�15�	"5�	���8M	�	��*?	�	�t��=��		$8���	�#�&O	���8M	��	��	��07	�8O	@�<�
8�								(!�	3=?�:	���Y	3'0�	��0�	Q�	�	
��	��8�;					(5N6O	
����	% b�?	�`<									35�	(5!�	���85!	�5��8M	��	�#i�57	
�5A
��																�	�$5/	�#�&O	���`��	37	�:�0<�	�#�	P��=��	�	4�2	�:�0<�	37	�`8�	$��0�												P��59�	_$5M	��	�5/��	�5H���	���5H2	

												$8�	��`#�	��	����	�I0
7�	�	�.!	���8M	�=?�#	>.`�	�	�I�&O	���8M	3�														35'�0�	�5H2	�57	��	��*5��	�	����0�K	�=� !	
��$8-;																					�	�5!�=!�	(5�67�Y	37	$88-��	��`#�	"=*�!0��	�=� !	�	�8���	�#�	%�	(����	
��7	���6?	�#�	3�	�� -
�

						����	��=*7	4�2	@�?��B	��	����	4���	;															%&5'	$58���	$�0
5��	�5�6=^�	
��
58���	����	4�2	37	����	��	QB	���6?
		.�/	%&'	���H!																				�	��$59�	�	�5<�	
��*5-6}.�	��0157	��5)����	�$/	(�<	��	�P ���	�	%0!�	
��
8���	��I��

								37	��=*7	3�	��7	�	$�!�	
��
8����-		����	4�2	;									��	% b�?	�`<	�c�	�!��7	�b�K	u����	��	S$A				��0=5!	�
#����
				_$8:	(
�	�7					4�2	���8!	���8M	(N6O	�7			�			���:					%�	��	�		��	$/�7;	
���	�A�	���8M	��7���	�7	%�!	�	�8�8�	Q�	�

	yH!	��	�`<	yH!	��+�fWf	,$/	3=!��	����	�#����	��	u.M	R#��?�	�7	�	$8=?�#	>.`�	4�2	
�=.�=��!;		
�

�.B()�(�����\� �

															�5`<	yH5!	35!	�7	�?��1�	o ���	j�U	J<�Y	��	
�	3��^6:	n#��/	��	39<�H�	�#�	+f	�Df	��ff		��5=-A	��	�5�		,		35!	�
		�����-�		��	4�2	
���0=!				�7	�6���	�6B	Q8'				L�����	Df				�HY	�	Ff								(5?�:	_�5`��		�5=�	�=��5!	;							35M���	��	4�52	35�0.�

				u.M	��	��0A�	���.k	$��/	���
���	
����
�	�$-
���	���������fWf					�057	�$5/	
���	>5.'	
�5=�	�=��5!		;D	����	
					����	P0U	��	
���7�E							(?�:	_�`��	_$8:	����	�7	u7�H�	_$8:	$/�	3A��		;	��	����	�A	��				�	
���	>5.'	�5'��2	
�5�7�

											$#��:	���9�	�.��	%&'	���=!�	n!0�	��	���8!	�	S�1�	"����8M	�����	;								37	���0=!	4�2	_$8:	@���	$/�	��	QB
$/	
��:	���$��	���	4�2	R^7	�A	�	���:	��	���8M	�#�	�#����	�	$�$/	"�*��	R^7	3!;		

�

97:�(�;��<6\� �

										�	j0H!	��	�A	3�	$/	w^
�	u����	�#�	3`�=�	��										4�52	��	���85!	���8M	��$��	R#��?�	�M�7	% b�?	�`<	��7��
											$/	@��K	%�	��	��	��	P�)�$7	�	_$8:	���:�	;															yH5!	��	�`<	yH!	��	��7���	�7	%�!	�	�8�8�	Q�	�
���	�A�	���8M

+�fWf	,												$/	3=!��	����	�#����	��	u.M	R#��?�	�7	�	$8=?�#	>.`�	4�2	
�=.�=��!	;					����5-.A	�	$5#��7	G�+FffE	,	5��	�
										u.M	37	��$��	o��$.M	���6?	(��K	3�	$8=/��	���7�f	�=��!						��	4�2	��	
�=�													"5�	4�5��	�$58A�	��
5�	35�	$/�7

				$/�7	��	4�2	��	�18M+E,	;		����-.A	�	Q#����0=��+FffV	,						����.7	�`<	��7���	�7	���D��f�Df						(
�	��	��=-A	��	��	
			�89�	R#��?�	3^6�	���:										_0�����	�	@-��	�%�!	(N6O	��	���	���	�$A�
�+�,	;									��5�	��	%�!	�	
��	��A�	���8M	(N6O

														$8=?�#	R#��?�	�`<	��7���	�7	
���	�89�	�0H7	_$8:	3���	��	
��	�	�A�	�;											���85!	���6?	3�	(!�	��	�7	�$��M	���2�		
										�_0�����	�01^7	% b�?	�`<	S�1�	u#�U	��	4�2	37	�$/	3?�b�									$����	q�)���	4�2	��	�`<	�<�	��0�	�7	o�!�!�;	�	�#

																	(5!�	�5`<	���5��8M	�#�	�<�	
��� �	�0'�	(697	oi�.=K�	% b�?	�`<	��.��	��	%&'	R#��?�	;							��	G5#	v�5A	��$5��
	�0)�	��i�7	�$/	x#�9�	
�A���$��=!�	��$K��	���:	�	4�2	��	�$/	
��:	���$��	���8!	���8M		;	(N6O	_0����5�	���8M�	



���������������	�
���
������������������������������ �!"���#������$� %&&��

��

� �� ��

����

�
��		�	%�!									7�	��		
���	>.'	�I�$=7�	
������	��	Q�								�89�	$A�/	�7	����	S =2�	3�	(?�#	R#��?�	
��k��	��$��	37	��
		�07	�$/	���;											$�0
5��	0
5=*/	���5!�	37	% b�?	�`<	�0~K	��	���8!	���6?	3�	�$/	w^
�	��0=!	��
#����	��	

																(5!�	�$/	����	()*�	% b�?	�`<	��	P06��	�<�	�7��	��#�	
��=N6O	37	�����	R#��?�	��8k	;					����5-.A	�	0-5!�:
+FffX	,										�5`7�'	�5<�	�7�5�	�57	�$5/	$5�0�B	36�!07	4�2	�0=!	��	_0�����	�	%�!	�Q�	�
��	���6?	3�	$����	(7�c

$�0
��+F;,	O���6?	�#�	(N6�_0�����	�`7	��$���/�	%�	
�A���$��=!�	��	+� 
>-E		S�15�	
��7	
���8
�B	�#����	�
��-�	���`�	
����
�	��	�=?�#��7	%�;		

		
		
		
		
		
		
		
		

																																																																																					���

�

�

��

	�


�

��

���

���

�	�

� � � 	 �

�����������	
���
��

�' 
 
P
�.����?
k333
3Z
�|
3333�
�Y�
ML
��

�3
333F
�5
333p
]q

��

���

�

�

����

����

����

���	

����

���


����

����

����

'�
$
0)
$
.�
?
kZ
�|
��Y
�M
L�
�

�F

� �� ���

C7D��
���

v

u

�

		���0.�F	�����	5_0�����	�`<	
�A��.��	(��	4�2			

�



���������������	�
���
������������������������������ �!"���#������$� %&&��

� �� ��

����

�	x6=^�	
������	��	��7�	��	��	_0�����	(N6O	�7	�A��.��	��7����c�	5		
																			���0.�F	�����	5_����

J:���\		
��� 
��
��"���0/�4����!�=�
��
/�.�4�� ���A�:���		���&�����������7����������-���2��2����
���
���"��2�/�
��;��/�
���"/��
"�B�
���9����=����:�����:�6������
�����A�6����2"6�����
"�"�����"���7�����7����(�5�(�3C(�+���
���$�����$���=��%����
"�$2������<��		��8�
"�����������
������A�6����2"6�5 ���������2�
����2":���	3�����
���-���7���8�<����/���:"�-�1���72��4���			�@�������������
��
������
��
�"2�2��A7�������������������
����
��A�6����2"6���
"�������������������B��� "9�
�����
�&
9���
��
����!������7�+�����+(������
+��%�.��"�/�%�.�/!��7��"�/�.�/����
72��/�@�/!2���/�4�/��29���/�		+�%�=����:��
"����2=����:������������������
"�

2����
����
������������
�:�������������2"6������������
���������
�����/+�(C�		��
���@���=�����
�����!���
:��4��
��		���8���7�
6���7��9:��������
�2/�?�/��
"�L
���
"���6�
����������������
��A�6����2"6������������
������"������
��
������������������
�������7��@�����&
9���
��
���9��2���������2�����
��������
���F������8�2/��72B7�
�L7�
6�/�>�
:�
6�>2/�-�
6�2�8�2���		(��%������������
��
�����������������"�=:��7��
"�����9�"���6�
�����������
���A�6����2"6���
"��7��������9������2�����
������A�6����2"6������������
��4�2�
������
-�B��"�2��%����������+3�5�33�C+	(�

�7����$�A	37		��0<�	4�2	�7	
�=��7	��.��	3!	�	0'	���:	R#�B	��c��		�=��	
�A+Fg
:�9#,		

!6�a�
�-�I����"�I �0�B�'-.���%n�����G,��-�2���%!
I�$�YI��"��:���#�.I��-�I��!�����:��4k� �

			4�2	$/��	�!�8/���	
0`
���							����	$K��	�� !�	����	���
���	�!�8/�			4�2	���:	��#��=!�			������	���
���	�!�8/%			��#��=5!�	

			������	%�	�	4�2	�������	3*!0�	4�2	
t0<0�7	�������	R^7#		4�52	���5:	��#��=!�						$5K��	�� 5!�	����	���
5���	�5!�8/

	�P0?��k	�	
�=��	
0`
��������	d�$�	(�7��	���
���	�!�8
��2	3=/		
� �

��-����

													���57	�5M�7	�����	���5Y	(5��	���
5#i�B	����5`�	��	35�	����5��	��=!�	
�	��/	��	>Y��	���7�	�Y�7	3�H8�	$#$/	�=��	�:�0<�			
	(!�	�$/	3�H8�	�#�	��8��!	(� !	
��7	
$'	���U�^�	�	$#$/	�H���	(*#�	� -
�	;	52	���)'	S$A	�7	��	�#�	��	����*

												$/	_�`��	38���	�#�	��	���9<�H�	�:�0<�	�����	(?�
�B	��	
��:06'	�	3=/&:	;		]��	L�0��	��						��NK �	37	3'0�	�7	
��*��B	
�A
(*#�														$/	���7	���	37	�N�	��0�	4�2	��	�	%�^=��	G#t0<0�7	]��	
��1=Y�	�	�H���	;								
��:��5�	37	��c��	]��	�#�	���			��5.��	

		3�0:	��	�#�#�=��7	̂ �	
�A			"A	�d06�!�7	Q8'	x6=																	(5!�	357	v#�=�	�	�7�#���	��#$-#	�7	u��6�	�	@�=*�	��0�	37	0'	���:	��8k
$#��:	@�6��	�	3#�`�	�$��;�

�������������������������������������������������
�3
�@������������2��-:"�����=�
��
@�-����

�
@7��J���&
9���
��
�������������
� 6�
�:�+����
&� �+������

�

�

���

���
���

��	

���
��


���

���

��
$
0)
$
��
��
��
�	

�
�

�

� �� ���

'%0f.C7D��
��� %TN< �x*+>

YY
Y

YY

J

���0.��(N6O	5	_0�����	�`<	
�A��.��	(��	���:	x6=^�	
��
^7	��			
�


